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Linking word & inventions

linking word: Lul alals

ggja'u;}flji.h«.w?..\.ﬁ;i Ledlus| pddas daoy )T adsid dasl g d\.«.b(].

coced| SoliY Aad gie Al alAl
Do daalg Ml ola g
A. because/since/as } + ot ates (cown)

oiay i g (o)L 425 aed! (uds Lgb dasl g M1 608 pre g

Because muna was ill, she did not go to school

dad glie domll dlos
tT«.’«.u.n :\-\-6:}

) et N cais @ ¢ (o ) B e SOl e O coen

(228 510 A
B. SO )+ a3 gis asci dles
Aad yie Asecs Alen B rabes (SO fagly / i) dayi ) cay pdy

Muna was ill, so she did not go to school

Corad ) ddon 4ad gle dnc dlex
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c. because of, due t0 )+ ot tten (cws)

walixd st o "Decause " alasiiul g iae uad Lgd daslg 1 oiia
M+@@i@¥k@&j)am3@|3ﬁmwuim

D2l alie¥! Guysl O( law g eul le ¢ gimd Jo—
Jel2 Ja2

1-Because shaker was ill, he did not go to

school.
43\.&.«439.«”

2-because of his illness, shaker did not go to
school.

DA Alen 5 corad) Alen U dayl g ) Bueld s
1-Because/since/as} Jela+ a2
(ot 2es)
2-because of, due to} + witiw § (cowadt 2les) @l
PIALAY s 9 AL dasl g 01 Ao geane (ealiusd
A-in order to/so as to/to}
S [/ o

:Mbiﬁdib¥3.gﬂ/&iww@|jjﬂauw

(be ,have ,d0 i dazs Jo¥1 oy ,uaill 98 9) 3,50 Jad

-we went early in order to finish our work on

time.
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edl CB Y LB Lidee e Of i (e | See Liwad
-she dose exercises so as to be fit .
CABLY (B 0SS 0T dal (e (oleldls p gas
B-in order that/so that }ss/yai ;e
S S i (o iad Liaal dash 9,31 o0in pres
Exercisel
Choose the correct answer in brackets
ol 93Y1 (o pall il gl s

1-we were late....there was heavy traffic.
(because ,because of, so)

2-we were late....the heavy traffic.
(since, because of ,s0)

3-he found life in china very difficult...... he
couldn't understand the language.

(as, in order to, so)

4-he found life in china very difficult...... the
language.

(because, in order that ,due to)

5-sameer crashed his car...... he was driving too
fast.
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6- rania studied every day.....improve her
English

(so that, because, so as to)

7-rania studied every day ...... she could improve
her English.

(so that, because, so as to)

8-.nnn. Majed didn't have a driving license, his
father refused to allow him to drive his car.

(because, because of, so)

9-Majed didn't have a driving license,....... his
father refused to allow him to drive his car.

(because, because of, so)

10-Majed didn't have a driving license, ....... his
father agreed to allow him to drive his car.

(because, but ,so)

11-My failure in the exam was......... lack of
confidence.

(since, so, due to)

12-he didn't earn enough money...... ,he decided
to work overtime.

(so/because/in order to)
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13-...... the bad weather, we decided to delay
our trip.

(since/so that/ because of)

aiqa il
1-because (yaa+Jeld Laoas/cow ales)
2-because of (wiliw g gul Loas/cow W)
3-50  (Uadtyeld bawas/cow alea)
4-due to (wilaw 5 pu! Lans/cow ales)
5-since  (Jsa+Jels Lows /o ales)
6-S0 @S t0 (s 5w Jad Laoas)
7-so that ( modal+ Js2 Laus)
8-because (Jelat Jed Loas/coww ales)
9-50 (%3 gie 2o Wes)
10- but  (aasgie 2 amuw)
11-due to (5l g @l Laas/ corw ales)
12-so (228 50 Amecs alea)

13-because of (a5liio g mol Ldoas/cocw es)
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The Scott Paper Company in the US triggered !
' an international mania for paper clothes when it |
' offered paper dresses by mail order Within six
' months Scott had sold more than clothing half a
million the dresses. There were paper bikinis :
and paper vacation clothes-you travelled

without obviously luggage, bought your clothes
' at the vacation site, and threw them away when '
. you got home. Although Time magazine noted |
that paper clothing was 'here to stay', paper ,
clothing turned out to be a fast fading of fad. In
fact ,designers didn't really like paper since it :
. was hard to work with and didn't cont didn't
last. Between 1962 and 1977 an Englishman,

. Arthur Pedrick, patented 162 inventions. Even

' though his ideas were extremely creative, none

. of them were taken up commercially due to

their impracticality and non-utility. His

- inventions included a bicycle with amphibious
capacity(i e. for use on land or water), and a

way to enable people to drive a car from the |
' back seat. However his greatest invention was a
' means to irrigate deserts by sending a constant
supply of snowballs from the Polar regions :
. through a network of giant pea-shooters.

______________________________________________________________________________________________
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vocabulary

< -to trigger =. ,~u : (v)-to start or activate
sth suddenly siss ¢4 dacais 5i sun

-Mania: Obsession =_. s

-vacation: holiday= ..

-To fade (fading) sy : (V)-to disappear
slowly =

A A A

hh-’-j".&-&.a:'
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.-Fad . (n):-sth that people are interested in
for a short time = 3 ,uad 5 ol uldl 4 @ie s

-To invent ¢ ,xs, (V) :to produce design sth that
has not existed before isss 5o < @ sd proai gLOY

<

A

A A

A A

Invention ¢ ,as¥ (n)-a thing or idea which a
person has invented e s 5,58 o s a i
oasid-

-Patent ¢ 251 5.1 0 (n)- the official right to
be the only person to use or sell a new
INVeNtion o e o3 (asall &9y OF 2 e I Gl
[NUNSE PN PN | SUFRPL i WE Ly

-To patent s o e Jsa=u(V): to get obtain
patent

g1 Y1 Olel p e J guamlt.

-Take up g,Ls(v): to use alusiu
-Impracticality e »&(n)-from impractical
(adj)- very difficult to use in real life. ;=
Adoall Blesd! B Alasiuw fus Caaall.

- amphibious (adj) < ~ : operating on

land and water. sttty oo ¥ e Joad.

- Supply: equipping = ;s
-Irrigate s, : supply with water -sLaL w3
-Drawbacks(n):a disadvantage or problem
Qe JSlie gl o
-Projections(n): predictions cias gi:ci shas
-Break-through: dramatic and important
development eeeliy el yudl ool puzied|
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< -Inferior(adj): lower in quality Jsi :as juie s
83 9>

< -Lease(n):contract ,i»i azc

-on hold :aside, pending  _te: ,uauy oa

A

J\Jé:dﬁﬂ bl
< -synchronized: happening at the same
time.

CB gl yudd LB Gl pel Fie

choose the right answer

 shortly after launching the 'see-as-you-talk

. phone' at the 1964 New York World Fair AT&T
. made the revolutionary service available in New |
York, Chicago and Washington DC There were |
high hopes for the innovation but/despite/ yet
the obvious drawbacks, e .g /i. e. the |
picturephone calls cost twenty times as much as
'an ordinary call arrangements to use the new |
technology had to be made in advance by

' regular phone, and customers had to go to a |
special location to have a conversation By 1970,
it had an improved version of the picturephone
technology ready. There were projections of the
sale or lease of a hundred thousand phones in |
five years, with the prediction that phones with
pictures would be widely used by the general
public by the 1980s Again, (consequently/due

V.makiabeh Yel: €11.21365 10 abazill aulS Jilie — aolpl




slaall o S8 Gl e g 33

 to/ since) its poor performance the market place |
put the picture phone on hold. The break |
through system used in 1992's version, ,
VideoPhone 2500, was faster than older models,
(because/ but/ therefore) its picture quality was
. much inferior to the full motion video and
synchronized audio of television. (Even though/
However/ Thus) once again the picturephone
didn't meet projections. As a (consequence of/
Despite/ In reality) these failures, the

technology continues to move ahead

TN R I NS SO JC
1964 alat atlall &Iy 5055 o5 yas o3, AT&T dousal ctas |

L ColSs Rewslall Glhaldlgy sAUSidg s b B b gle A sl |
ogue (uan [ e @b o1 ole [ (ST 9) SIS e B s Jlei SUs |
L e alSS 5 uaedl OlatiSelt (gl [ Jledl b o) Al |
L o1 3 alasiwd Aosle Gse3 edall (o OlEs Less .Lanis |

e Shaall Ol g cAusladl SLel (1B (re Locdie @i OF oo Buisnd) |
Lot Ol (1970 Wawi gy Wslows sl ¥ (ols adse ) wlaill
Colss 3ol 5 gaell OlodlSall Lox b giSEN (po diuse Adnwd
B‘anwm@mumiuuﬁtji&gaupamé

Jid (e gl g B le il B gw ) guall go Calegll Ol 35 |
(e s [ (M o) 5 531 5501980 alatt J sl 5 seentt |
ALY Ol LTI L3 B e aIlgll a g B gwll pud g LeSlal caads |
2500 &8 guasd s 1992 ale b Al NS o puss |
3ag> cols (it [ oS8 o [ O¥) cdagaalt zaleddl e ¢

O dial e O guall g AlelSY) Ao pond) guniall e LILE JBT 5 gl
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1-despite s 2 1 e
2- 6.0 Jls dow e

3- due t0 cowws

4- but s

5-thus fusa 4 (=s0 )
6-despite pz 1 e

a pn b/ Qulmi

4 5yjl% Il aslll jyabl dylmig

© @ilall gragill @4l iais
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